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Remarkable Identities

Find each product.
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- (3a%+4b°)° 28) (x* —2y?)’

29) (a+b)3 30) (a—b)4

31) The length of rectangular field is x+4 and the width is x-4. Write an algebraic expression for the area of
the rectangular field.

32) A square has a side of measure (x+5). Write an algebraic expression for its area.

Mathelpers.com Grade 8



file:///H:/PERSONAL%20DOCUMENTS/ONGOING%20PROJECTS/0%20FEBRUARY%202022/1.1%20Book%20Website%20Project/Set%201%20Books/Group%20A/Grade%202%20Term%201/Mathelpers.com

